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(A) SBEEIDED R
a(b+c)=ab+ac

(b+c)a:ab+ac

(B) sBEETRIE D 1
a(b—c)zab—ac
(b—c)azab—ac

(C) ®AEDBLE
(a+b)(c+d):ac+ad+bc+bd
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) (a+b)(c+d) B (a+c)(b+d) s st - e -
ab i bd

©) (a+d)(b+c) (@) (a+b+c)(d+1)
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A) (a+b) =a'+2ab+b* (B) (a+b) =2(a*+b)

(©) (C+d)2=C2+2cd+d2 (D) (c+d)2:2(cz+d2)

(1) BBi(a+b-2¢) =
(2) BBA(x-2y+3) =
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(1) 2014x1991=
(2) 9999 %598 =
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(A) (500 +3)x(500-11) (B) 503x%500-5030-503
(C) 500%500—500%11+3x500+3x11 (D) 500x500—~8x500-33
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RNEFOEIERE © (A) (8%) =8 + (%) (B) (m 4 n)2 =m’ +mn+n*

©) (m—n)zzmz—iZmn—n2 (D) (i?'zjtrz)(m—n):mz—n2
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(1) 99lx103l=
2 3

(2) 999.99x1000.03 =
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